Worksheet # 26: Transcendental Functions and Other Integrals

1. Evaluate the following indefinite integrals:
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2. Use the equation b* = ¢*(®) to find the indefinite integral /bz dx
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5. Which integral should be evaluated using substitution? Evaluate both integrals:
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6. Find a relation between x and u that yields v/16 4+ 22 = 4v/1 + u2.

7. Evaluate the following indefinite integrals, and indicate any substitutions that you use:
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8. Evaluate the following definite integrals, and indicate any substitutions that you use:
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